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1. WR ST W=ed F 309 WA =g Ul

e T

(A) g

(B) AX

(A) T ST DT
(B) SRATE TS Pl
(C) T @I
(D) Wil @

4. UH & B G HRU G
(A) PHIRS
(B) FARICIRE

(C) IIIRE
(D) THIEERE
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Gregor Johann Mendel preferred the
.............. plant for his classical

experiment.

(A) Rice

(B) Garden peg
(C) Maize

(D) Mustard

Propagation through bulb occurs in :
(A) Potato

(B) Sugarbeet

(C) Ginger

(D) Onion

Potato is modification of :
(A) Tap root

(B) Adventitious root
(C) Stem

(D) Leaf

Green colour of plant is due to :
(A) Chromoplast

(B) Chloroplast

(C) Leucoplast

(D) Amyloplast
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afdy T & Tt AR I ¢ |
(A)  HTE-HECI

(B) HPRI-¥a¥

(C) aTSIHGIH

(D) ST

g-agT e @ v 2
(A) IR & TN

(B) IR &

(C) WR W

(D) STda # & @IS AL

WIS wY § eI & -
(A) ROl

(B) waurd}

(C) TRUNI Vg T
(D) SWa ¥ ¥ I3 T

fg g & Sarem ®If¥er &1 A

S T gRT 81T 8 ?
(A) BT

(B) U fHfA

(C) Y

(D) a7
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Plant wilts due to excess of :

(A) Photosynthesis
(B) Photorespiration
(C) Transpiration

(D) Absorption

In-vitro fertilization take place :

(A) Out of body
(B) Inthe body
(C) On the body

(D) None of the above

Naturally bacteria is a/an :

(A) Heterotrophic

(B) Autotrophic

(C) Heterotrophic and Autotrophic

(D) None of the above

In which organism the flame cell is
formed by excretory system ?

(A) Crabs

(B) Flatworm

(C) Earthworm

(D) Bug

Set-A



9. IIRIS HUIRT T BT ISR & :

(A) TR
(B) WX
(C) I
(D) Sugad FHI

10. & U 9w T
(A) TITH GRIR I
(B) s URAR T
(C) Ho¥il URAR T
(D) W # ¥ 3 T

11.  3ReATD STel BT WIR © :

(A) TIRE T8
(B) e WIS
(C) wameT WS
(D) SUgad JHI

12. Wﬂﬁﬂ%?ﬂh—l—gé

(A) ST

(B) S

(C) HENM

(D) SWad # | BIS T2

Ag-1011

(5)

10.

11.

12.

Example of subaerial stem modification

IS :

(A) Runner
(B) Sucker
(C) Stolon

(D) All of the above

Kale plant is member of :

(A) Poaceae family
(B) Brassicaceae family
(C) Fabaceae family

(D) None of the above

Modification of adventitious root is :

(A) Tuberous roots
(B) Nodulous roots
(C) Floating roots

(D) All of the above

Unit of heredity is :
(A) DNA
(B) Gene
(C) Chromosome

(D) None of the above

Set-A
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(A) THATE T8
(B) UdHdSIgA T
() fadorm &
(D) fgdIowdt oig

14. IR fSIA o 81 U O B

(A) fedioos ois A
(B) URASGAl TS #
(C) fgdvma a1 H
(D) U&HSoOET a |

15. QR BRI IS BT I 7 -

(A) TR BIRIH
(B) T BRI
(©) g FRra
(D) SWa ¥ ¥ I3 e

16. SIS URAT ST § :
(A) T A
(B) UM H
(C) @i o
(D) fcre #
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Pith and cortex do not differentiate in :

(A) Monocot root
(B) Monocot stem
(C) Dicot stem

(D) Dicot root

Four radial vascular bundles are found in :

(A) Dicot root
(B) Monocot root
(C) Dicot stem
(D) Monocot stem

Process of mitosis cell division takes

place :

(A) Somatic cell
(B) Reproductive cell
(C) Gametic cell

(D) None of the above

Xylem is found in :
(A) Animals

(B) Plants

(C) Insects

(D) Nematode
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17.

18.

19.

SEREICRE

(A) 3Flrer

(B) a-8Rd ara
(C) HT3T B WIS

(D) Suda Wl

WA F WRETGT & dfddl W

RTRYT FHEAT B -
(NIRELER]
(B) WmTO
(C) YaeH

(D) fagdiisRur

BIF-H SUAT A= BIRIGT H el U I
g 7?

(A) NI

(B) Rifddar

(C) da®

(D) S U T
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17.

18.

19.

Biofertilizer is :

(A) Azolla

(B) Blue-green algae

(C) Vermicompost

(D) All of the above

Transfer of pollen from anther to stigma

is called :

(A) Fertilization

(B) Pollination

(C) Propagation

(D) Emasculation

Which organelle is not found in animal

cell ?

Ribosome

(A)
(B) Vacuole
(C) Plastid

(D) DNA
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20.

21.

22.

23.

dve & yor @) yaford fafr @

(A)  Hpetd

(8) ey frior

(©) fawwsT

(D) SWH # | B &l
fareprer 781 81T oK

(A) R = argafie T8 2
(B) SiIF YMIGEI ©

(C) TAfERYT PEE ©

(D) <Ml # aTgaR T 78 @
BT &1 AT BT 2

(A) HACH |

(B) Wagl dftgud

(C) g™ ¥
(D) Hid DFGTH |

Wi & IR & U AW uecdh 2

(A) ST
(B) drg

(C) difioH
(D) EgI
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20.

21.

22.

23.

Common method of reproduction in yeast
IS :

(A) Budding

(B) Spore formation

(C) Fission

(D) None of the above

Evolution will not occur if :

(A) Somatic variation not heritable
(B) Genes are without effect
(C) No environmental influence

(D) No genetic variation in population

Cork is formed from :

(A) Phloem
(B) Vascular cambium
(C) Xylem

(D) Cork cambium

Essential component for origin of life is :

(A)  Water

(B) Air

(C) Oxygen

(D) Nitrogen

Set-A



24, AR DI fawror aof <Tef raver g

(A) T
(B) WHw
(©) s
(D) HHW

25, SEIUS P I hedl ©

(A) BB
(B) ®IRAI
(C) STl
OERRIEIS

26. S B BN T :
(A) A TGI8
(B) U Bl AERT T
(C) vagd
(D) Swfa
27.  BF-GT g SwAfer g ?
(A) 3P
(B) ENE] HERHl
(C) g3
(D) 99

Ag-1011

(9)

24,

25.

26.

27.

Longest phase of mitosis cell division is :

(A) Anaphase
(B) Prophase
(C) Telophase

(D) Metaphase

The study of universe is called :
(A) Conchology

(B) Cosmology

(C) Biology

(D) Pathology

Function of root is :

(A) Food storage
(B) Support to plant
(C) Respiration

(D) All of the above

Which organism is hermaphrodite ?

(A) Frog

(B) House fly

(C) Earthworm

(D) Snake
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28.  PIRG TUT & : 28. Cell organelle is :

(A) DI PRy (A) Cell wall
(B) VS HD Nfeqherd (B) Endoplasmic reticulum
(C) TR3RIM (C) Peroxisome
(D) SWa &l (D) All of the above
29. DIl BT YT heddl © 29.  Study of insect is called :
(A) TS (A) Pomology
(B) Uerraroll (B) Pathology
(C) Tl (C) Entomology
O RELEEIS (D) Nematology
30.  HISOAT BIHYH BT & 30. Chiasma formation occurs in :
(A) HW H (A) Metaphase
(B) UGE araRen H (B) Pachytene stage
(©) e H (C) Telophase
(D) Sugad a4 H (D) All of the above
31. UGRI-HYANU @ fgdd IdE ¢ 31. The byproduct of photosynthesis is :
(A) BHEEESC (A) Carbohydrate
(B) SifeileT (B) Oxygen
(C) wIH (C) Protein
(D) a1 (D) Fat
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32. Uh YBR & oiidi & fddrard) sfaerd & 32. The evolutionary history of a kind of

organism is called :

FE AT T -

(A) e (A) Phylogeny

(B) difdd fasra (B) Organic evolution
(C) gdorT (C) Atavism

(D) SWE ¥ | TS el (D) None of the above

33. ARG U & foq 9RT § Yhre-HIoyr 33. Photosynthesis generally takes place in

Bray ooy 20 2 0 which part of the plant ?
(A) T B B (A) Bark of stem
(B) URKI IR FARICIRS 3MeBIfed HIT (B) Leaf and chloroplast bearing part
© \‘rl@f (C) Roots
(D) Suga H A Bl el (D) None of the above
34. ORICIASl GHId © 34. Gerontology is related to :
(A) 1T FART G FeTIT A (A) Study of childhood
(B) TRIg 3Rl & g ¥ (B) Study of infant stage
(C) TSR & AT 4 (C) Study of old stage
(D) INGTaRR B 3T | (D) Study of young stage

Ag-1011 (11) Set-A



35, 3ffdCIoT BT 99 © 35.  Phylum octopus is :
NRSIES] (A) Annelida
(B) HIeiRedI (B) Mollusca
© amareT (C) Arthropoda
(D) URIHR (D) Porifera
36. fafdre WYE | B ISR T - 36. Example of exclusive marine phylum is :
(A) SIS (A) Protozoa
(B) UNIBR (B) Porifera
(C) SdIZArSHTT (C) Echinodermata
(D) SUYa H H IS el (D) None of the above
37. RN E : 37. Ataxonis:
(A) FRT Gl & b T8 (A) a group of related species
(B) WM URARI &I Td A8 (B) agroup of related families
(C) f&¥l ugid @1 v afffal wwg (C) ataxonomic group of any ranking
(D) SNfad Sfial &1 TF JHR (D) atype of living organisms
38, PIRIP HINIGI H TURH BN @ : 38.  Chromosome occurred in somatic cell are :
(A) ST 4. (n) (A) Haploid (n)
(B) f&qfora @. (2n) (B) Diploid (2n)
() fford 4. (3n) (C) Triploid (3n)
(D) SUYa H A Bl 7l (D) None of the above
Ag-1011 (12) Set-A



39. ICBN & folv gy 2 | 39.

(A) TTEEHA Bl A% deHbd
BILECEEN

(B) ST BRI 3i% dicHdd IM

(C) e @ fm  deHed
BIECEEN

(D) STIEMA BRIV 3% dIcHE 9H

40. Uhd OFd 9 Gafd @ SRy & fhar 40

FEd -

(A) 3NlfIE T4

(B) ifited S

(©) (A) 3R (B) T
(D) SUYa H A Pl el

41. 99 BT D TE T 41.

(A) TR el
(B) M Al
(C) B BRET
(D) SUYa H A Bl 7l

Ag-1011 (13)

ICBN stands for :

(A)

(B)

(©)

(D)

International Code of Botanical

Nomenclature

Indian Congress of Botanical
Names
Indian Code of Botanical

Nomenclature

International Congress of Botanical

Names

The process of producing offspring from

a single parent is called :

(A) Asexual reproduction

(B) Sexual reproduction

(©)

(D)

Both (A) and (B)

None of the above

Scientific name of human is :

(A)

(B)

(©)

(D)

Panthera tigris

Homo sapiens

Homo casia

None of the above

Set-A



42.

44,

Ag-1011

foet oot # qrex e B § ?

(A) A

(A) g
B few
©) 3 o<
(D) 3R¥]

afifer ol &7 FE B ©

(A) SN~ T~ BIgerd— 3ife]

(B) Wfe- - sl Brged

(©) WT- ST~ BIged— 3ffeR

(D) 3T~ BTgerd— Wefei—~ Sfi=d

(14)

42.

43.

44,

In which animal does fertilization take

place outside ?
(A) Deer
(B) Monkey
(C) Fish

(D) Rat

The book ‘Systema Nature’ was written

by :

(A) Linnaeus

(B) Whittaker

(C) De Candolle

(D) Aristotle

The correct sequence of taxonomic

categories is :

(A) Genus— Species— Phylum~—
Order

(B) Species— Genus— Order~
Phylum

(C) Species— Genus— Phylum~—
Order

(D) Order— Phylum— Species—

Genus

Set-A



(D) Suded wdl

46. 59 U9 B QT BT AGD bR O]

g ?

(A) AT
() i
(C) 3ra

(D) fAeran

47. AT BIRI®T § iR & 9 &

(A) UIEH
(B) ®HIEIESS

(C) o

(D) dgur
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45.

46.

47.

In which the reproductive organs are

hidden ?

(A) Cryptogams

(B) Angiosperms

(C) Phanerogams

(D) All of the above

Which plant is called terror

Bengal ?

(A) Lemna

(B) Echornia

(C) Agev

(D) Nelumbo

of

The source of oxygen in a living cell

is:

(A) Protein

(B) Carbohydrate

(C) Water

(D) Fat

Set-A



48. UHRICH TIRBIZSH IMdd: M & - 48. Pennisetum typhoides is botanical name

of :
(A) AR @ (A) Jowar
(B) SR T (B) Bajra
(C) TWE-TE &l (C) Khus-Khus
(D) HIDI DI (D) Maize

49, W H YH & fawd ?ﬁ&’ BT 49. The growth in roots opposite to light is

. called :
(A) o & faueig wfer (A) Negative geotropism
(B) T & HIUe T (B) Positive geotropism
(C) YT i (C) Photonastic movement
(D) SUYa H H IS el (D) None of the above
50. 3GqA! PIRIT AT BIaT @ 50. Meiosis cell division takes place in :
(A) 9 BIRE H (A) Growth cell
(B) FRIF BIRHT # (B) Somatic cell
(C) = HIRI H (C) Reproductive cell
(D) ermg H (D) Root cap

Ag-1011 (16) Set-A



51. Gl &1 Ugell YHIeerdl o4 & 51.  First photosynthetic organism of earth is :

(A) Siar (A) Bacteria
(B) I (B) Algae
C) &% (C) Fungi
(D) sHcH (D) Diatoms
52. Tl IRIR T Fe B 52.  Member of Poaceae family is :
(A) g (A) Wheat
(B) 91 U™ (B) Beach grass
(C) dr (C) Bamboo
(D) Sugad F4l (D) All of the above
53. 9¢ @I Y & MURY I [ 7 53. The method of determining the age of
tree is ;
(A) T B SaTS (A) Plant height
(B) TIN® Tl dI AR (B) Number of annual rings
(C) TR fafy (C) Biomass method
(D) SUId H H I el (D) None of the above
54. fqU-d7 1 G 2 54. Big-bang is related to :
(A) FEITS B SART | (A) Origin of the universe
(B) AT @I SART | (B) Origin of life
(C) gl & SURT 4 (C) Origin of earth
(D) Sugad &4 ¥ (D) All of the above

Ag-1011 (17) Set-A



55. 1753 H @HTH qgf?f DI R1cg|rq fg PESEZ 55.  In which book was the theory of binomial

3 yHiRE g ? system published in 1753 ?
(A) AHATRATR e (A) Nomenclature Botanicus
(B) WIS wfTexd (B) Species Plantarum
(C) T WA (C) Genera Plantarum
(D) TATCIHT (D) Anatomica
56. ®UTNA SNRIRSSEKEIRSHE 2 56. Example of tap root modification is :
(A) &< Vs (A) Tuberous root
(B) TUHHY WIS (B) Moniliform
(C) WguiBH (C) Fusiform
(D) TS (D) Climbing

57. IFUAH @ STRONfAAr @7 WA fegd 57. Survival of the fittest was used by :

g1 foar Ty o ?

CNLIED (A) Lamarck

(B) TEC WK (B) Herbert Spencer
(C) T sIfde (C) Charles Darwin
(D) & fe 9 (D) Hugo de Vries

Ag-1011 (18) Set-A



58. Udbdlaudl URRl gTRT el @ -
(A) wcd ARRCH
(B) Ui AR
(C) FURDNI HREH
(D) SWE & | B Tl
59. I § Sl dIel UaT el g 7
(A cRemre
(B) SeirEet
() foroH
(D) STAPIET

60. @IF-9T UK SiTad H TH IR ol © 7

(A) 99
(B) U
(C) 3P
(D) TUER

Ag-1011
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58.

59.

60.

Monocot leaves possess :

(A) Lateral Meristem

(B) Apical Meristem

(C) Intercalary Meristem

(D) None of the above

Which is that produces seeds ?

(A) Pteridophyta

(B) Thallophyta

(C) Gymnosperms

(D) Bryophyta

Which plant occurs flowering one time of

life ?

(A) Bamboo

(B) Pine

(C) Oak

(D) Deodar

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A I BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok qdl Heger
B o ST T ST START BRAT afoid ¢ |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |
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